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(4RT TER FF goit-1 fofer st g e wirer) (A Government of Inda Category-1 Miniratna Company, Ministry of Shipping)

BT R Rifee -Qy COCHIN SHIPYARD LIMITED
o iy

SEC/50/2019-1v
November 08, 2019

Sub: Information Under Right to Information Act

Dear Sir,

1. . PIea;e refer your RTI request no. CSLTD/R/2019/50034 dated October 14, 2019.
The information sought under the said request is given below:

0] Kindly provide the copies of question paper along with answer key of the above-
mentioned post.

Answer

The selection of Executive trainee (Mechanical) was done during the years 2012,
2014 & 2018. Question papers along with answer key pertaining to the years 2014 &
2018 are available and are placed at Annexure | & Ii respectively. The question
paper along with answer key for the year 2012 is not available. The selection process
for the year 2019 is ongoing. The provisional answer key for the test conducted on
October 26, 2019 has been published on CSL website and the final answer key will
be published in due course after addressing the concerns, if any, raised with respect
to the provisional answer key.

) Kindly provide the information of every recruitment of final selected candidates cut-off
marks for the abovementioned post from 2010-2019.

Answer

There was no cut off marks for selection. The total marks secured by the last
candidate selected for the post of Executive trainee (Mechanical) in the years 2012,

2014 and 2018 are given below:

Year Total Marks
2012 57.13
2014 72.20
82.82
B 2018

The final selection for the year 2019 is ongoing, hence the information is not

available.
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2. If you are not satisfied with the above reply, you may prefer an appeal within 30 days
from the date of receipt of this letter to Shri Suresh Babu N V, Director (Operations) &
Appellate Authority, Cochin Shipyard Limited, Administrative Building, Cochin Shipyard

Premises, Perumanoor, Kochi — 682 015.
Thanking you,

Yours fdjthfully,

Vv
Company Secretary & CPIO



Annexure |

Directions (Questions 1-2): Choose the option that gives the best way of writing the sentence
ensuring thai the message is correctly conveved,

1.

Notwithstanding some measures adopted by the previous government, cven though half

heartedly, the economic health of our country did not improve much as was expected, and this

led 1o widespread disappointment among people,

(1) Previous government did not make sufficient efforts 1o make economy beiter for the people
of our country.

{2y Some measures taken by the previous government were a failure and people got so much
ITustrated.

- 4+ Some efforts made by the previous government were not good enough 10 improve ccanomic
condition, which failed to folfill the expectations of the people.

{4} Previous government failed miserably 10 improve economic condition of cur nation and
pecple are now so much unhappy.

The prevention of accidents makes it necessary that not only safety devices be used to guard

exposed machinery but also that mechanics be instructed in safety rules which they must follow

for their vwn proteciion, and that the lighting in the plant be adeguate.

(1) As workers do not follow safety measures and machinery in plants remuins exposed. we
witness so many accidents. :

(21 We can avoid accidents by adopting safety mcasures. training the workforce. aol exposing
the machinery and providing adequate lighting in the plant.

(3} Most accidents are caused due to ignorance of workers and not taking sofficient safety
measures.

{4) There is an urgent requircment (o lake required safety measures in our factorivs any iram
our workforee 10 avoid accidents.

Directions (Questions 3-3): In each of these questions, choose the option which can be supstituted

4,

tor the giver. words.
3.

One who hates mankind,
(1) Huiv _ {2} Atheist (3) Philanthropist {4) Musanthrope

That which cannot be corrected.

(1) Incorrigible (2) Indelible (3) Stubborn (4) Uncxpungeabls

Directions (Questions 5-6): Rearrunge the jumbled alphabets in the following four eptions and find
the odd word among them.

M.

o,

(1} EVRIR {(2) NEAOC (3) MRESTA 4) OI!RHS

i1y TBARLCEL (2y BCNLEL.CAK (31 ENBGLA (4) L.CIPEN

1/A/2ZK15/02 2



Directions (Questions 7-8): In each of these questions. choose the option that best captures the
essence of the text,

7

The Rajputs occupy an honoured place in the history of India. They were a war-like people.
proud and pairiotic. They were jealous of their honour, and would lay down their lives 10
uphold it. They loved their homes and fought bravely to defend the honour of their women-foik.
Nothing would tame their spirits. Perils only called forth their courage and poverty only
increased their power of resistance. None could fight like them. Their motto was ‘Better death
than dishonour.

{11 The Rajputs were quite famous for their pride and honour.

{2y The Rajputs are known for their sactifices for the country.

13} The rise and fall of Rajputs have been really dramatic in the bistory of 1nds

{4) The Rajputs were really the spirited heroes of Indian history.

In the past thirty years, drugs have been discovered that prevent and cure physical disease and
reverse the disturbances that occur in some mental iliness. Excitement over what drags can do
has led people 10 believe that any ailment. infective or psychic. can he relieved by taking a pill.
Al the first sign of nervousness, they try pep pills. Medical journals now advertise ranquillizers,
and other mood-altering drugs; doctors prescribe them; and the public expects miracles from
them. In such an atmosphere, it is not surprising that drug abuse has spread.

(1)} Any ailment from which we suffer can be cured by medicines in a short time.

(2) In the recent years, therc has been a misplaced trust in drugs.

(3) Doctors now cure all diseases.

(4) We should not have trust in all kinds of medicines.

Directions (Questions 9-10): Choose the order of the sentences marked A. B, C. D and E to form a
logical paragraph.

9.

10,

1/4/2K15/02 3 149/ 2

A He was thrown on the road and lost consciousness.

B After sometime, he opened his eyes Lo realize he waxs in a hospital.

C Some people rushed towards him and tried to bring him to senses,

I3 While rushing home. Anil was hit by a speeding car.

E  Since they did not succeed, they decided 1o take him to a hospital.

(1Y EDARBC (2) CBADE (3) DACEB (4) BADCE

Initially. be could not adjust at this place.

Now Dinesh is proud of his friends and he likes this place.

Dincsh was recently transferred to Partapur,

Bat all colleagues helped him,

E  Partapur is considered a rural area.

(1y AEBDC {2) EDCAB (3 DBCEA (4) CEADB
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frdwr (9o 11-13): = fKu @ W ¥ A wem fog 1o ¥ B @m wRm ok gwe W uw dey §
HUR IW FFEfafas vy o 3w S

(1) A% TR [ ‘HR’ & Ak w1 ‘waE )
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14, wfER ¥ faaw oo wad FURl §7

(1) s=fan

{2) wge (3) FEEEN (4) 2JiN

I5. oFftar & uf w27

(1) wrema

(2) 7ot T @z (4) T

16. M @ 3@ W § 2 SR wfead ¥ §
(1) 2 st =R (2) ¥ain 3R @ (3) FEER SR A (4) & iR T
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Directions (Questions 11-13): In the following questions, two statements have been given, which
bear a cause and effect relationship. Mark the answer as

(11 if Statement I is the ‘Causc’ and the Statement 11 is its Effect.
(31 if Statement 11 is the ‘Cause’ and the Statement 1 is its *Effoct’.
¢ 111l both Statements § and IF are ‘Effects” of & common ‘Cause’,
(41 11 hoth Staements I and I are "Effects” of independent causcs.

11. Statement [

Statement 11

2. Statement I

Statement H

13. Statement ]

Statement 11

: The Times of India has reported today that water of Ganga al Varanasi contains

level of pollutant much higher than the permissible hmit.

The people living in the area are to be shifted to another area to avoid
catastrophic situation,

: The Government has planned o make arrangements for supply of safe drinking

water from Tchr Dam.
The Ganga water at Kanpur s not even fit for bathing as it contams very high
leve! of polutaats.

: The internet users of the country have been advised to stay alert while using

internet till the hackers are caught.

: The Government machinery will make an all out effort to catch those who are

responsible for hacking and put in place 2 sound internet security system for all
its wehsites.

Directions {Questions 14-16): Study the Information below to answer these questions.

Six family members Anita, Beauty, Cute. Debang. Ela and Falcao are sitting in a boat. Anita’s
husband, sister. parcnts and uncle are there in the group. There are two more girls among them.
Beauty. the mother of Anita is heavier than her father. Debang got more weight than Iila but less than
Falcao. Niece of Falcao, Ela got the least weight. Father of Anita is heavier than Falcao but not the
heaviest. Nor is Anita the heaviest of them. '

14.  Who is the heaviest in the family?

{1) Anita

(2) Beauty (3 Faleao {4) Nebang

15, Who is the husband of Anita?

{1) Falcao

(2) Lla {3 Dehang (4) Cute

16, Who are the ladies in the group other than Anita?
(1) Cute & Beauty {2) Debang & Ela (3) Falcao & Beauty  (4) Beauty & Lla

1/A/2K15/02



Ty (799 17-18): T 794 W W W@ OF Feq [ o o @@ wY § at fased @ frm d
17. (1) 69,43 (2) 63,47 (3) 34. 85 (4) 65, 23

18, (1) ©nfeE® (2) T (3) 99731 (4) THE

19, F% @ wagen ¥ ' 9w T fEEe Tt @ W
10, 1%, 34, *?. 130, 25K
(13 32 : (2) 60 (3) 68 (4) 66

2. g A ®A, 9 A A0 W OH U F ueh 27 gue w1 39 wee | @ fam 82
{1) 381 (2) 99
(3) T (4) Fifm =& fFm ;1 ww@

e @ 2123 Py s S A & N & W o wmm d @

T sl ore o i aldieta % ored faendl §1 g sk o wfad sk dwein @ o= fawet ¥
T sl o e sl afefate @ ore faerd ¥1 wfem, e sl I weeler o dwEta @ o=
faemst ¥

21, wta, firdiz ik alefiata @ s faemst @i #2 |
(1) wfe | (2) Huwa (3) (4) 7Ra

22. dudte, frde, aldaia iR Feala w1 w=o1 faerht == #7
(1) gfg= (2) Fowe (3) e (4) T

23. Aqale, Aetater ot T = = oo w5 27
(1) afa (2) FOA Q) f (4) 7rE

24, fordli @ 2 W ¥ BORN 7 APQON &R LACK ®! KBBLK feran wra &) 39 3z w1 § GRID

= w fomn wwam? _ _
(1) FSHCD (2 HSILD (3) FOHCD (4} FSHED

25. Wk o= A9 frm W gE w ¥ oww @ o A 90 diw wom # AR et 7 IR 9=, f 20
el Tt O TE A AT T W ¥ 30 Wi 9OE oA Ay & ) Ige e fyar a@l
= A 7l 4 a2 I R A 190 der T ok T ol ¥ s fran @ frem wo T SQ @
o 4 et @ W aw i fen 8 fwen?

(1) 80 = (2) 100 Hi= (3) 140 w2 (4) 260 MK

1/A/2K15/02 : ' 6



Directions (Questions 17-18): Find the odd one out in each of these questions.
17. (1)69.43 (2) 63, 47 (3) 34, 85 (4} 65, 23

18. 1) Plastic (2) Wool {3) Leather (4) Waood
14 Complete the series by replacing ‘7’

(0, £8. 34,7, 130, 258 :

{11 32 (2) 60 (3) 68 {4} 66

20.  Suman said, “This girl is the wife of the grandson of my mother™. How is Suman related 1o the

girl”?
(1) Grandfather (2) Mothcr-in-faw
(3) Father-in-law (4) Can't be determined

Directions (Questions 21-23): Read the following information carefully to answer these questions.

Ravi and Kunal are good in Hockey and Volleyball. Sachin and Ravi are good in Hockey and
Baseball. Gaurav and Kunal are good in Cricket and Volleyball. Sachin. Gaurav and Michael are
good in Football and Baseball.

21, Who is good in Hockey, Cricket and Volleyball?
(1) Sachin (2} Kunal (3) Rawi (4) Gaurav

22. Who is good in Baseball. Cricket, Volleyball and Football?
(1) Sachin (2) Kunal (3) Gaurav (4) Ravi

23, Who is good in Baseball, Volleyball and Hockey?
f1) Sachin (2) Kunal {3) Ravi {4} Graurav

24. In a certain code language, BORN is written as APQON and LACK is written as KBBILK. How
will the word GRID be written in that code language?

(1) FSHCD (2) HSIED (3) FOHCD (4} I'SHED

25. A child is looking for his father. He went 90 metres to the Fast before turning to his right. He
went 20 metres before tumning to his right again to look for his father at his uncle's place 30
metres from this point. His father was not there. From here he went 100 metres to the North
before meeting his father in a street. How lar did the son meet his father from the starting point?

(1) 80 metres (2) 100 metres (3) 140 metres (4) 260 metres

1/A/2K15/02 7



26.

29.

30.

31.

32.

33.

d1-{21+19-49 = W fawem B2 -

(3 (2) 5 (3) 6 (4) 4

R HAFG €9 Y @ A 1284 &) T W) w9 den @
(1) 320 (2) 322 (3) 324 (4) 326

w7 3 TR & 29 e (o) A 30 fem T o g e w fee fETL o e §
FZ faamm I 104 7 wam?

7 8 9 It
Iy = (2 2 3y (3) -
(}2 \2_3 (-Jz t4i3
A B=S: 78 B.C=6- 11D A:B:-C=?
(1) 55:77: 66 (2)30:42.77 (3)35:49:42 (4) w9 9§ =E =
435 25 3 U Frefetaa & w3

(nh2:1i 2)4:1 (3 7:5 4)7:10

TF TEM 4, 5 3R 6 R %9 F ghergds faaifa w1 ) viw wEws 2, 3 ol 4 e 9% d@em
2

(1) 214 (2) 476 (3) 954 (4) 1908

THER WSS F AR WA 35 ¥) IR W wen § 5-5 g fa ww A 7€ wensd 1w
t1) 40 {2) 30 (33 50 4) 65

fadt [ e F1 SR uF T 9EE TR W 9 el 6 R B 9 wcell # siwa oy st
@ ¥ frelt 78 3 9 et o) s g R M wew ® oy B H9 fRET o &2

(1) 9 ¥ (2) 123k (3) 15 a4 (4) T § FN T

1/A/2K15/02 8



26.

27

29.

30.

31

32.

33

Evaluate: 41— \}21 +Jl9— Ja

(13 (2) 5 (3) 6 44

The surn of four consecutive even integers is 1284. The greatest of them is
(1) 320 (2) 322 (3) 324 (4) 326

How many kgs of pure salt must be added to 30 kg of 2% solution of salt and water o increase
it 1o a 10% solution?

7 8 9 il
(3 @ 5 3 3 4 5

FA:B=5:7andB:C=6:11,then A:B:Cis
(1}55:77:66 (2)30:42:77 (3)35:49:42 {(4) None of these

The ratio of 435 25 is same as

(121 (2r4:1 37:5 $H7:10

A number was divided successfully in order by 4, 5 and 6. The remainders were respectively 2.
3 and 4. The number is

(1) 214 (2) 476 {3) 954 (4) 1908

The arithmetic mean of seventy-five numbers is calculated as 35. If each number is increased hy
%. then the mean of the new numbers is

(1) 40 (2) 30 (3} 50 (4} 65

After replacing an old member by a new member, it was found that the average age of five
members of a club is the same as it was 3 years ago. What is the differcnce between the ages of
the replaced and the new member?

(1} 9 years (2) 12 years (3) 15 years {4) Nong of these

1/A/2K15/02 9 149/ @



34.

s

in.

i7.

3%,

R

).

afE 3 o W OF qor @ T wn v § ween WO we, T Yew W 18 A @
R e oA & B A gw g @ 82
{1126 (2) 35 (3) 53 (4) T § wE

A3 B A A W s s3tia i mR AR g sk sm A4 B W
HYT 11 & A W 4 T AR A g ol 4 A vER B oy W e Reew B

th 1:3 (2) 2:1 (3} 3:1 (4) 4:1

fordlt amq 7 2 (920 7 Fo7 W s ww i T € 1280 W 4= W T v whee @ we
g 25 T wRlE W R ARy AR S W aw v

(2000 (2) T2200 (3) T 2400 (4) ¥ | w=i w

A A S 3:4:5 aqam ¥ 12 gy ok F fasor ¥ g R ym #) few F qu sk
TH T (4:1). (3:1) 3R (5:2) opem F § 7 A9 0 = Ao o D9 w697 F 19 fan s
PR ECIE A s R

(1 4! (2) 15148 (3) 157:53 4) 5:2

MWy mR AN G g A TR s R emsd meaRsmtd w9
2 HH R g 6 ol 7 30 A At ol @it @ frg s fe v @ wew 2

(1) 85 (2) 51 (H 72 (@) M 9 =i T8

TF AE A A fon F PR d Qv 7 R 3l paw Q@ dhw dre fer R v 9 A
A A A 19 52 wHa i § IR wm e a4 R it s el fer e F T W T 1a
fosl, W A AW P 0 F A feh g0 87

(1) t6h fam. (2) 150 fomm, (3} 200 Tt {4) 220 fi.

A T 3 T S 1 2t S2 W wfh R 2t e e 8% @i sk 9% aftfs w ® Tl
e foorm 1 afk @ 9w F A @ @ v we w0 R o !‘481830!’?&\‘{%3&@@
fe 2270008 @ =W 19 few ol fow 5t 08

(T 12000 1 T 13506 (3 TIS,000 (4) T ¥§ HE &
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34.

35,

36.

37.

38.

39.

40.

>

If the number obtained on interchanging the digits of a two-digil number is-18 more than the
original number and the sum of the digits is 8, then what is the original number”

(1) 26 (2) 35 (3) 53 {4} None of these

The ratio between the present ages of A and B is 5:3. The ratio between A’s age 4 years ago and
B's age 4 years hence is 1:1. What is the ratio between A’s age 4 years hence and B's age 4
years ago”’

1y 1:3 (2) 2:1 (3) 3:1 (4) 4:1

The percentage profit eared by selling an article for ¥ 1920 is cqual o the percentage foss
incurred by selling the same article for ¥ 1280. At what price should the article be sold to make
25% profil?

(1 T 2000 (2) T2200 3y T2400 (4) None of these

Three conlainers have their volumes in the ratio 3:4:5. They are full of mixtures of milk and
water. The mixtures contain milk and water in the ratio of (4:1). (3:1) and (5:2) respectively.
The contents of all these three containers are poured into a fourth container. The ratio of milk
and water in the fourth container is

(1) 41 (2) 151:48 (3) 157:53 4) 5:2

If 17 labours can dig a ditch 20 meters long in 18 days, working 8 hours a day: how many more
labourers should be engaged to dig 2 similar ditch 39 meters long in 6 days. each labour
working 9 hours a day?

(1) 85 2) §) (3) 72 {(4) None of these

A boat takes 19 hours for travelling downstream from point P to point { and coming back to a
point R midway between P and Q. If the velocity of the stceam is 4 kmph and the speed of the
boat in still water is 14 kmph, what is the distance between P and (7

(1) 160 km (2) 180 km {3) 200 km {4} 220 km

Mr Khan invested money in two schemes Si and S2 offering compound interest @ 8% per
annum and 9% per annum respectively. If the total amount of interest accrued through both
schemes together in two years was T 4818.30 and the total amount invested was ¥ 27.000.
what was the amount invested in scheme S17?

(1 T12,000 (2) T13,500 (3 T15.000 (4) None of these

1/A/2K15/02 11 149/ E



41.

42,

43,

44

45,

+0,

47.

4%,

4y,

50.

A A T SEel w1 stea-srafy e feadt wd 22
(1 120 & (2) 180 = (3) 245 f&q (4) 270 T

AT 30 (R0 SR) 3 A ) agt e  svelvarn’ e 2w 3 o ¥, o et 2014
A i, @ Teedy W ©w s d fEE dg yee w512
(1) qRd (2) e (3) ¥ {4) 9.0 W

T @ A et Wdifsa wegfew (A o o) Tifee 37 v @ fre TR o Y @ D
(] HERTS? 42) faem : (3) TR (4) ftamm

T qee fFe 3w w9 R ¥

(1) g™ (2) TR (3) freraarrs (4) wa

éﬂﬁm'iﬁa?dﬂ%'mmmﬁﬁﬁm%?
() s 2) ¥ faem (3} AR (4) ufees

TR S R gl $fem () sl veen wer e s (F € o) R
Frerr fope e #7
(b RfE amfEn (2) faaw dame (3) ! Tw area (4) Fayd geer

WA 7 g opw AHnen fRg 3w @ wEy R

(117 T8 T (2) TeiE (3) sHiefem (4) v & = T
2018 BIH fave ®9 F1 M fRw W ¥ e smm?
(1) ST (2)FW (3) Wit (4) He

gofl oY Ay Wy w &
(1) I fem F R | (2) 4 § ufvmm & AR
(3 <o | 3T A AR (4) oiven | @ #t IR

i % WY AR & fa T w82
(1) fasim, wing, Trrels, seonEd 1N

(2) foarm, frqn, AueE, o w

(3) frirm, wfor, forgu, derem

(4) a|H, AfgR, Q. e w3
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41.

42

43

44

44,

47.

48.

49.

50.

What is the life span (approx.) of the human red blood cells?

(1) 120 days (2) 180 days (3) 245 days (4) 270 days

Online retail giant company ‘Alibaba’, which made the record breaking stock market debut on
the New York Stock Exchange in Scptember’ 2014, belongs to which country?

(1) India (2) Pakistan (3) China (4) The USA

Recently, India’s first Compressed Natural Gas (CNG) powered train was started in the state of
(1) Maharashtra. (2) Bihar. - (3) Gujarat. {4} Haryana.

Kunal Bahl is associated with which ¢ — commeece portal?
(1) Snapdeal (2) Amazon (3) Flipkart (4) Jahong

Taglinc *‘Live The Moment™ is associated with which car model?
(1) Ritz (2} Grand Vitara {3) WagonR (4) Esiilto

Who has been appointed as the first Chief Executive Officer (CEO) of the Nationai Institution
for Transforming India (NTTT) Aayog?

(1} Arvind Panagariya (2) Bibek Debroy
(3} V 8 Saraswat {4) Sindhushree Khullar

Lewis Hamilton is a Formula One racing driver from
(1) USA. (2} England, (3) Australia. (4) Nane of these

The 2018 FIFA World Cup is scheduled to take place in
(1) Japan. (2) Russia. (3} Germany. 4y Qauar.

The earth rotates around its axis from
(1) north to south. (2) east 10 west.
(3) south to north. {4) west to east.

The States of India having common border with Myanmar are
(t) Mizoram, Manipur, Nagaland, Arunachal Pradesh.

(2) Mizoram, Tripura. Meghalaya, Assam.

{3) Mizoram. Manipur, Tripura, Meghalaya.

(4) Assam, Manipur, Tripura, Arunachal Pradesh.
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51,

52.

54,

53,

A box contains 4 red balls and 6 black balls. Three balls are selected randomly from (he box one
after another, without replacement. The probability that the selected set contains one red ball
and two black ball is .

(1 1120 {2) 1112
{3} ¥io (4) 172
3 2
The Blasius equation, %+L’£ ={,isa
dn”  2dn

(1) second order nonlinear ordinary dillerential equation.
{2) third order nonlinear ordinary differenial equation.
(3) third order linear ordinary differential equation.

{(4) mixed order nonlinear ordinary differential equation.

The solution of x%+y=x"with the condition y(l)=% s
] 4
x 1 4x° 4
(1) y="o-v4—~ ) yo——k—
» 5 x @y 5  Sx
xt 4 X
(N y 3 (4) ¥ 5

12 4
The matrix |3 0 6| has one eigenvalue equal to 3. The sum of the other twoe eigenvalues i
1 p

—

(Hp Dp-t p-2 4)p -3

The minimum value of function y = ¥ in the intervai {1, 5] is

(H o (21 (3) 25 {4y undefined
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A
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58.

59.

o0.

e WA ® JEm #

(1) T TE T SR O T T

(2) T WA WAEH iR U TR s
(3) & T oAES SR TF AEE TEa
(1) TF B H [FUE IR TS Wqe WA

ATF 1 x 4 arfa® gy # 3 Ax = b gl = ww wum P 4 A 1 seen 9va S
3

(13 1 (2)2 33 (4) 4

T R b % fae feren @ fm s Al i B

(1) OhY) (2) O
(3) O(h%) @) O™

T TR PRy @ W YF T O W XD 0w G % ¥ § W w0 @ g wam
frm wrm v o @ R

(1 Y3t ¥ % 9 ©F Fronews iy ¥

Q)XBTF A ® YF TF 99 F NHOH FH & fae v fFm w www #
(3) XF 7, ¥y 3 wA 1 W @ oo w9 ¥

(@) YR X3 dr9 w onoras wew W ¢

(1) Ffraa aoe waeel @ oTTE WAl 9
(2) Ffraa wae aawet. & S gl ®

(3) fAfram wim ofeml =t o= afkw ofedl @
(4) Ffvaa Tan wel @ A\l @
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56.

57.

58.

59.

60,

Stokes theorem connects

(1) a line integral and a surface intepral.

{2} a surface integral and a volume integral.
(3) a line integral and a volume integral.

(4) gradient of a function and its surface integral.

A is a 3 x 4 real matrix and Ax = F'is an inconsistent system of equations. The highest possible
rank of A is

(i1 (22 {33 44

The accuracy of Simpson's rule quadrature for a step size h is
(1) O (2) O
(3) O(h) (4) O(r)

A regression model is used to express a variable ¥ as a function of another variable X. Thix
implies that

(1) there is a causal relationship between Y and X.
{2) a value of X may be used to estimate a value of Y.
(3} values of X exactly determine values of Y.

(4) there is no cavsal relationship between Y and X.

The Gauss divergence theorem relates certain
(1) surface integrals to volume integrais,

(2) surfacc integrals to line integrals.

(3) vector quantities to other vector guantities.

(4 line integrals to volume integrals.

1/A/2K15/02 17



61, TEE fufs (FER) T ©F T BN W ARE TR TN T 2) 9 w0 @ e 1% e
2 3 AR 1wt ¥ e oAl TR AR w € A wifuw (q) s § viwea Rads
2 .

(o (2) 1 {3) 1.08 (4) 2.02

(2. UHEGF FTRY W2 A OF oA Hu wm % o I et W wea wvmg wat A fad W = e
A i g w1 fufy 4 9 3 fow wife s 9T w1 SR T
(4] (2)2 4 (4) 8

63. ouac waae feafa # sl feel fifg w wfeaa @t s
@ = 4 MPa, & = 100 MPa 3 7, = 40 MPa
saee ) fasfan s aitgm #t s MPa ¥ aof
(11 40 : (2) 50 ©(3) 60 4) 100

64. T TR HorRl W TEES T F O WA W T@ fHw e ¥ o aes e S d AT
7% agm ) A7 Te W A e o AT F NS E S e ome o @ at T ® R W
% fawfaa iy wfaaer gem

_a(AT)E ) - 2a(AT Jii 3) - 3a{aT E @ - alAT )E

(h (1-20) (1=2v) (1-2v) 31 ~2v)

65. THFRNET SITTAER S FTE ) x 20 Firet, siheiand 1 ), 21 wiw w1 e sew@erTem
wm
(1) 200 (2) 346 (3) 477 (4) 1000

66. rFm Al wE dre feww FiE A o R Fioly @ o @ W o S v W e
a1 v 41 fre W o fag W wRw % afom @i

(g3 () ra {3} (m:)z-r(raf)2 @) rot

67. wH wwH s 20 el Fre 200 fired, st gief 20 fem, ol ©F gaeR o foen ) O e
o % €9 3 T fEm s 4 AR @ 600 rpm R Yoit et # A @ niwes ww ®1 RS S
& | srit
(1) 395 (2) 790 (3} 1580 {4) 3160
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61.

62.

63,

65.

66.

67.

_same. the percentage change in the circumferential (hoop) siressis ____

A thin walled spherical shell is subjected to an imemal pressure. If the eadius of the shell s
increased by 1% and the thickness is reduced by 1%, with the internal pressure remaining the

(1o AR (3) 1.08 (4) 2.2

Yor a long slender column of vniform cross section. the ratio of critical buckling load [or the
case with both ends clamped to the case with both the ends hinged is

(W1 )2 3)4 (4) 8

The state of stress at a point under plane stress condition is

G =40 MPa, 0y =100 MPaand 7., =40 MPa

The radius of the Mohr’s circle representing the given state of stressin MPais .
(140 (2) 50 (3) 60 {4y 100

A solid steel cube constrained on all six faces is heated so that the temperature rises uniformly
by AT. If the thermal coefficient of the material is & Young’s modulus is £ and the Poisson’s
ratio is v, the thermal stress developed in the cube due to heating s .

alaT _2alAT)E 3edAT ) (4 AT

(- (1-20) (1-20) T i 20) 12w

(2} (3

A column has a rectangular cross-section of 10 x 20 mm and a length of | m. The slendemess
ratio of the column is close 1o N

(1) 200 (2) 346 (3) 477 (4) 1000

A solid disc of radius r rolls without slipping on a horizontal floor with angular velocity @ and
angular acceleration «. The magnitude of the acceleration of the poini of contact on the disc is

(1) zero (2) re 3 raF +(re’f @ re?

A circular solid disc of uniform thickness 20 mm. radius 200 mm and mass 20 kg. i vsed as o
flywheel. If it rotates at 600 rpm., the kinetic energy of the flywheel in Joules is . __

(1) 395 (2y 790 (3) 1580 (4) 3160
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68,

69.

70.

TF HaiFA del m iy ¥ frem o e A 2L s Akl o s A AR w gt B sw ws W
& T el v waelt g dfow Ggen s F e T @) o ol wEe ® A9l ) e
H gL We B AU e WM F Fig a7 W smania w@mifae siafa e

off e efE eff
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foe freat o dfm 7@ W el & @ o W @t i €

L& 1% RIgED R ED
B Vm @ N ) 5 Vm @ 2 Vzm
et =t ww @ R
(1) srwequ wives, sweaw fSgft 1 waed 2 ¢
(2) ATEge feaw T, ATEY g W eaed od @

(3) e whEA, uETn it #F R/ W et g 8

(4) STvEYY WhEA H T, AT fHER w R W geEad e #
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68. A concentrated mass m is attached at the centre of a rod of length 2L as shown in the figure. The
rod is kept in a horizontal equilibrium position by a spring of stiffness & For very small
amplitude of vibration, neglecting the weights of the rod and spring. the undamped nalural

* frequency of the system is

i

69. A disc of mass m is attached 1o a spring of stffness & as shown in the figure. The disc rolls
without slipping on a hotizontal surface. The natural frequency of vibration of the system is

k
1 [k U f2k v (2% E
1) — |~ 2) — J= 3) — = 4 12
()erm ()2:: m ()Zx Am ()2:1' 2m

70. For a Newtonian [Tuid
(1) shear stress is proportional to shear strain.
(2) rate of shear stress is proportional to shear strain.
(3) shear stress is proportional 10 rate of shear strain.

(4} rate of shear stress is proportional to rate of shear strain,
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73w Wfiw (o) @@ w1 @ www @
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Ao et ¥R R R e

(1) ¥ta W (2) wHifg (3) IIGH VA9 {4) 55
75. fFreafefem 4 @ fam = 9c ofew & sunivr w@eRe @ wam 99 fe S

(1) GMAW (2) GTAW

(3) Fefsem s de 4) T 9 * &

76. WA (F7) F 1000 kgmzwmwmélmnw 10 m/s* 7@ €Y 100 mm &t ek
W TE B

(1) 1 kPa (2) 1 MPa (3) 100 Pa @) 1 Pa
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71,

72.

73.

74.

75.

76,

1.

A cylindrical body of cross-sectional area A, height H and density p,.is immersed 0 a depth A
in a liquid of density 2. and tied to the bottom with a string. The tension in the string is :

/ !

4 1 String
(1) pghA (2) (p, -prghA (3} (p-p,)ghA (4) (ph—p, il gA
The SI unit of kinematic viscosity (v ) is
(1) m¥s (2) kg/m-s (3) m/s? &) m'ts*

A static fluid can have

{1} non-zero normal and shear stress.

(2} negative normal stress and zero shear stress.
(3) positive nonmzl stress and zero shear stress,

(4) zero normal stress and non-zero shear stress.

Two streams of liquid metal which are not hot enough to fuse properly result o a casting
defect known as

(1) cotd shut. (2) swell. {3) sand wash. (4) scab.

Which of the following welding processes does not use consumable electrodes?
(1) GMAW (2) GTAW
(3) Submerged Arc Welding {4) None of these

A container holds water of density 1000 kg/mz. Taking the gravitational acceleration as 10 mfs’,
the pressure at a depth of 100 mm is

(1) 1kPa (2) 1 MPa (3) 100 Pa (4) 1 Pa

Which of the following devices does not measure pressure?
(1) Barometer - (2) Mcleod gauge (3) Thermocouple {4) Manomeler
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.

84.

81

82
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78.  Which of the following statements is falsc?
{1) At constant lemperature, Charles' law applies.

. (2) The pressure of a given mass of gas decreases as the volume is increased al constant
temperature,

(31 Isobaric changes are those which occur al constant pressure.
i4) Bovle's law applies a consiant temperature,

79. There are two points P and Q on a planar rigid body. The relative velocity between the twa
points
(1) should always be along PQ.
{2) can he oriented along any direction.
{3} should always be perpendicular to PQ.
(4 should be along QP when the body undergoes pure (ranslation.

80,  Which of the following statements is INCORRECT

(1) Grashof's rule states that for a planar crank-rocker four bar mechanism, the sum of the
shortest and longest link lengths cannot be less than the sum of the remaining two link
lengths,

{2) Inversions of a mechanism are created by fixing different kinks one at a ume.
{(3) Geneva mechanism is an intermiticnt motion device.
{4) Gruebler's criterion assumes mobility of a planar mechanism to be one.

%1. A band brake having band-width of 80 mm. drum diameter of 250 mm. coclficicnt of {riction of
{.25 and angle of wrap of 270 degrees is reguired to exerl a friction torgque of 1000 Nm. The
maximum ension (in kN) developed in the hand is

(1) 188 (2} 3.56 (316,12 {41 11.56

82. A streamline and an equipotential line in a flow field
{1) are parallel to cach other. (2} arc perpendicular Lo each other,
(3) intersect at an acute angle. (4) arc identical.

£3. For the stability of a Qoating body, under the influence of gravity alone, which of the {ollowing
is TRUE
(1)} Metacenter should be below centre of gravity.
(2} Melacenter should be above centre of gravity.
{3) Metacenter and centre of gravity must lic on the same horizontal line.
(4) Metacenter and centre of gravity must lic on the same vertical line.
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84,

nS.

86,

87.

88.

a

The maximum velocity of a one-dimensional incompressibie fuliy developed viscous flow,
between two fixed parallel plates. is 6 ms~\. The mean velocity (in ms™') of the flow is

(1)2 3 ()4 4.5

A hydraulic tarbine develops 1000 kW power for a head of 40 m, If the head is reduced to 20 m.
the power developed (in kW) is

{1 177 (2) 354 (3) 500 4) 707

Which one of the following configurations has the highest fin cffectiveness ?
(1) Thin, closely spaced fins . (2} Thin, widely spaced fins
(3} Thick, widely spaced fins {4) Thick, closely spaced fins

A pipe of 25 mm outer diameter camies steam, The heat transfer coefficient between the
cylinder and surroundings is 5 W/m? K. It is proposed to reduce the heat loss from the pipe by
adding insulation having a (hermal conductivity of 0.05 W/m K. Which one of the following
statements is TRUE?

{1} The outer radius of the pipe is equal to the critical radius.

{2) The outer radius of the pipe is less (han the critical radius.

{3) Adding the insulation will reduce the heat loss.

(4) Adding the insulation will increase the heat loss.

An ideal gas of mass m and temperature Ty undergoes a reversible isothermal process from an
initial pressure p; to final pressure pz. The heat loss during the process is Q. The entropy change
As of the gas is

(1) mmn[f-%] (2) mmn{&) (3) len{ﬁJﬂ—g (4) zero
P 4] Di T

Directions (Questions 89-90): In an experimental set up, air flows between two stations P and Q
adiabatically. The direction of flow depends on the pressure and temperature conditions maintained at
P and Q. The conditions at station P are 150 kPa and 350 K. The temperature at station Q is 300 K.

The following are the properties and relations pertaining 10 air

Specific heat at constant pressure, cp = 1.005 kJ/ kgK.
Specific heat at constant volume, ¢y = 0.718 klkzK;
Characteristic gas constant, R = 0.287 kJ/kgK
Enthalpy, h=cpT .
Internal energy, u=c, T
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93.
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95.

9.
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89.

90,

91.

92.

93,

94,

95.

96,

’

If the air has to flow from station P to station Q, the maximum possible vatuc of pressure in kPa
at station Q is close to

(1) 50 (2) R7 (3) 128 (4) 150

If the pressure at station Q is 50 kPa , the change in entropy (So— Spyin kIfkgKis __
(1) -0.155 )0 (3 0.160 - (4) 0,355

If a mass of moist air in an airtight vessel is heated to a higher temperature, then

(1) specific humidily of the air increases. (2} specific humidity of the air decreases,
{3) relative humidity of the air increases. {4) relative humidity of the air decreases.

Moist air at a pressure of 100 kPa is compressed to 500 kPa and then cooled to 35°C i an
aftercooler. The air ai the entry o the aftercooler is unsaturated and becomes just saturated at
the exit of the aftercooler, The saturation pressure of water at 35°C is 5.628 kPa. The parual
pressure of water vapour (in kPa) in the moist air entering sthe compressor is Closest to ____.

(1) 0.57 (2) 1.13 (3)2.26 4) 4,52

Dew point temperature is the temperature at which condensation begins when the air is cooled
at constant

{1} volume. (2) entropy. (3) pressure. (4) enthalpy.

In abrasive jet machining, as the distance between the nozzle tip and the work surface increases.
the material removal rate

(1} increases continuously.
(2) decreases continuously,
{3} decreases. becomes stable and then increases.
i4) increases, becomes stable and then decreases.

During normalizing process of steel, the specimen s heated

(1) between the upper and lower critical emperature and cooled in stil air.
{2) above the upper critical temperature and cooled in furnace.

(3) above the upper critical temperature and cooled in still air,

(4} between the upper and lower critical temperature and cooled in furnace.

A solid cylinder of diameter 100 mm and height 50 mm is forged between two frictioniess flat
dies to a height of 25 mm. The percentage change in diameteris ___

(HQ (2) 2.07 (3) 20,7 414

1/A/2K15/02 29



97 Rl ORR SN STREE § Haia faa 9 fen ¢ see = e (e W) free

= F R 25 forel

e #i A 2 foeft,

79 3R 39 & #9 e ferdw 0.06 fird,

g 0,05 el

1) 2483 ) 24.89 (3) 2501 @) 25.17
9. ‘HEER WK % WG Wad I9gE ol 9 9@ f

1) feeTad atd W (2} 9% HHG W FRHA

¢y &R WEH -

(4) 3% feumw

vy, fored ® fEw # #= T Wiy )
(1) frdt vt wgft § wfF R o T 9y
(2) feelt war wzh 4 SR w1 o SR Wi T
(3) folt wregfein (Fastron) waam F weiAl &t vea ik S8 F0 @w
(4, Tafafe v s TR guim g § st

100. aed Fmiv e aRa
(1) IO Ffrm
(3) A o=

1/A/2K15/02

U S 2

(2) wfem afa=ma
(4) faa (Hfg) sfam
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97. Calculate the punch size in mm, for a circular blanking operation for which detatls are given

below,
Size of the blank 25 mm
Thickness of the sheet 2mm
Radial clearance between punch and dic . (.06 mm
Die allowance 0,05 mm
1) 24.83 (2) 24.89 i3) 25.01 {4 25.17

9%. The word ‘kanban' is most appropriately associated with
{1} economic order uantity. ' (2) just-in-time produclion.
{3) capacity planning, (4} product design.

99, Littke’s law is a relalionship between
(1} stack level and lead time in an inventory system.
(2) wailing Gme and length of the queue in a yucuing system.
{3) number of machines and job due dates in a scheduling problem.
{4) unceriainty in the activity (ime and project completion time.

100} Vehicle manufacturing assembly line ts an example of
{1} product layout. (2) process layout. (3) manval lavout, (4 fixed layout.

1/A/2K15/02 31



PO L0 /T PERFOTION AND THEN ERR AFTER EXRMRATION S OV,
AT TAIR. IR U3/ OMR ANSWER SHEET
AT~ PUG §H IR TAG P AW R W 7O % DY e v it w1 am @ 9y ||

: - W 4 o0 Please read all Instructions glven at reverse side carefully before filling the OMR Sheet - . -
- e e e e T o ey n _
- bt G e (‘.fai"(‘li(‘ldlﬂ‘j i - i e !f ; I"I t o A I O . ].-. _‘_._‘ “'!. —E_ ; l ! | : oo -—:— -
- o i = i e fa i
- L R Gosshan s v S te ot B oze:::-.%g:}i Sﬂr!aﬂ
- T T T ] H e L . ;
- :....;L_JJD[IE]LJIHﬂﬁ!]ﬁijf'll.i“ii,_i;ﬁ_l ! |
- T @D B ® @1@@@@@@5©@ O PE®| ® ® @ |
- oD O O @& O 0OLoecoom @ @ @00 ® T @
- oD D D 3T a -@@@}C’D@)@ Fealed] @ DD @ & ® |
- T D ® D T o 5 DD D ® &
- Lo 3 B P D aidheeede: @ @ D O & O }
- AT Om OB Y Hiaede. D ® e o ¢ ¢ !
- 2w oe B R &L DERE®&E - W &) em! D &
- T | s E SR DIMEDEDT, 4 & I, @ ®
-l oW B ' & B & @k@@@@@@ﬁ ® ® el © &
- .‘L}J 3Ed w ®» E ¥ Oeeed®®, @ @ @®: @& &
= 5 \:ﬁ!?/ ANSWERS
- [-d:_'f ANSWER ) ANSWER pg ANSWER a. ANSWER :
- _Ho i i NG. i Mo, No. :
- D e ® 5D D e @ HlD ® ® @& B e DD D
- i ® T & |Tv|D D @ @ 2|0 ® @ @ ” o e @
- 2T @D D @ B @ D @ s O© O @ n e B @ G
- @ T @ w (D & D @D 10y O & @ BnOD © @ ©:
- 50 0 Wy gy @ @ s 1@ @ @ @ R e D D X
- . 3T ® ol DD “ B D D @ e | D@ ®
- 0 D@ 2i@ D D D 7|0 @ ©® @ @ w|OG ® v D
w D @ D D B D ® D @ 8.0 O O @ =80 @ @ &
= 0l @ @@ | H|D ® O D O @& ©® ® LD D @
- TD D@ IO QD ® @ vi® @ @ @ S0 @ O D,
-8 OO ® @& © & & alaG @ @© & s|l&8 © & @
=0 & @D 7O O & @ D D e @ 7D & D
=D & @ @& D T e & @it @ ®© @ IO & & &
- s @O E I ®O 8 D we @ ® @ | wo e o ®
-y O T @D T s ® O O DD ®C
-G '['T; & @ @ P ® D Q@ D 8 3 & & @ 91 ]CD o D @
=i e @ @ @ ® L ROV CSR ) .o @ @
- g T Y @ sl D D @ el D e N e ®
mie D T @ @ @ E WD e D e s T D
mlois o G R K@D @ D v D @ D | B0 D @ @
m 2D @ O e DD ® nIo @ o8, 96‘['3 D D @
=l2m @@ 00 @ > | 2e®e ® |ve DD D
m B0 ® @ e 0 @ @ RIC @ @ @ 8D € 2 @
=lxo @ @ @ |(«0 DO S e DD B0 @ Q@ @
-!nin @ ® @ L@ @ P D IO @ O @ ‘w[@ D D @
: i S/ DECLARATION | a’rw,/necuaanon
L B L W R T 1 , TR M & LY Gt AL SR G
W [ Fase venley e ZppRcants PECICWAs © This ArSwe. sNgul Ty (bss | SO0 R e L] STEAR Mﬁ‘“”"‘ Hi I
- T auh lha Jtendance sheet ard Adrut cara | mawve gisc reconclar the @ ’ _' ) . . .

. IS GGG T and SHnaure PO el 20 Yl il 1 i IrsE BOdwer et Dy Ma s e 0t
- - e e s s R LONACT 1o the Dest of my adge ark: Bedal 1wl b 5018y ToBplast
] ﬂﬁm A e Bvam of any wformaton lund ngoreect or false.

" Name of nvigilator : . '
_- —_—— .- . i
- , i .

. :
: I.._ ySiEs & EFTRR ftugnatuu of invigliator i aufl ¥ wREMY S Signaturs of Candldale ;
- ;'__ T OtAR ANSWER SHEET MO :
- |' s LB _we \_;QDQQ:_— -,r-.\gQrD(L'N_'JCJL?'CL‘-i:* 105004 1
- C OPUFASEDORGE ML CULBRGINTRIS SR T
--z 4 .

e gz, il



Subject Code . 102 +

Subject
Code

102

102

Exam Date
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09-09-2018

Q
Id

141

142

Questions

In Indian Constitution, which of the following aricle guarantee Right to Education?

yredta wiaur H, Fafafla 3 3 2% o o R F after #lned S

(A} Article 14
14

(B) Article 15
15

{€) Article 16
16

(D} Article 21A
ATV 21A

In August 2018, which of the following country have signed second protocol amending
Comprehensive Economic Cooperation Agreement with India”

3R 2013 B, Frafaiaa § 9 fore 2o S e & 9 oo e agdm aagha o
U B A1 Y Wepi T gwaaR ol g0

(A) Singapore
(B) Japan
o

(C) Indonesia

E

Annexure |l

Answer
Key

(o)

(A)
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144

145

(D) Germany
Eutl

Which of the following acid is found in banana?

For B FmiaiaT T2 $1 o 3 IR S 3

{A) Citric acid
3T

(B) Acetic acid
TEife® o

(C) Oxalic acid
AT o

{D) Malic acid
e I

According to NABARD, All [ndia Rural Financial Inclusien Survey 2016-17, how much
of rural income is generated by agriculture?

e i R Tt Refta e wdar 2016-17 3 SFTER, fFa anfor
3ma i g Ianied @ ol &

(A) 23%

(B) 40%

(C) S7%

(D} 63%

Which among the following ministry has ltaunched Swach Survekshan Gramin 20187

(D}

(A)

B
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fmfef@a O % fea vienag g0 W=y wdeo andivr 2018 F AFUR Fm T R

(A) Mimistry of Agriculture and Farmar's Weifare
H T g weam s

(B} Ministry of Drinking Water and Sanitation
U0 Fd dul W=bd] HATed

{C) Minisy of‘Rural Development
farpra Havery

(%3] Ministry.of Earth Science
HATH
Ln the following question, out of the four alrenasives, select the alternative which best
expresses the meaning of the idiom/phrase.
Birds of a feather flock together
{A) There is strength in numbers, a team can achieve what an individual can'.
(B} people of the same sort or with the same tastes and imerests will be found together
(C) Even if they try people cannot change their tastes or interests
(D)} Peuple will flock together when they see an opportunity
In the following question, out of the four alternatives, select the alternative which is the
best substitne of the phrase
Not able to be changed or reformed
{A) Redeemable
{B) Cavalier

{C) Incormigible

(B)

©)
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{D) Haughty

In the following question, a sentence has been given in Direct/Indirect speech. Out of the
four alternatives suggested, select the one which best expresses the same scntence in
Indirect/Dvirect speech.

She said, "Mother, this dress looks beautiful.”

{A) She said to her mother thal, this dress looked beautiful. {©)
{B) She said to her mother that, that dress looked beautiful.

{C) She said to her mother that, that dress looks beautiful.

(D) She said to her mother that, this dress looks beautiful.

The guestion below consists of a set of labelled sentences. Out of the four options given,
select the most logical order of the sentences ta fonn a eoherent paragraph.

According Lo the steady-heating

A-in turn have a specific density

B-model, the coronal loop of a given
C-length and temperature should

(BY
(A) ACB
{BYBCA
(C)CAB
(D} CBA
Answer the given question based of the following passage. (A}

My favorite parl of Saturday is walking through the city. Sometimes [ close my cyes and
let Daddy's hand guide me. When my eyes are closed. T can hear things [ don’t usually
notice. I can always hear the cars honking and the people shouting. But when my eyes are
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closed, I notice how 1he pigeons talk to each other while they sit on the benches. [ notice
how the bell on Wilson's Grocery door sounds different than the bell at the hardware store,

What does the writer notice only if she closes her eyes?

(A) The talking of the pigeons

(B) The honking of the cars

(C) The shouting of the people

(D) The holding of daddy's hand

Raman sold a car to Rajat at a loss of 14.28%. Rajat sold it to Vinit at a profit of 66.66%.

If Rajat purchased the car at Rs 1400, then at what price {in Rs) Raman bought that car?

T 7 70T F1 TP ST 14.28% B g T 41 ToFa = Fola Y 66.66% & T1H W
T ol W A Y (400 7 A GHA, AT A e A g & A W

(A) 1120

{B) 980

{C) 1633.33

(DN 1167.67

L, M and P can do a certain piece of work in |3, 20 and 40 days respectively. They started

the work together. M left the work after 4 days of starting and P left the work before 3
days of completion. In how many days the work will be completed?

L, M TUT P U T4 B SHT: 15, 20 94T 40 137 0 30 w3 81 381 ord mu A wem
M, A FE PR F 4R a s s em @ ay g s QUi gR F 3 39
od P BIgE T T R e 2 o ol g g

(&) 9(6/11)

(B) 5(9/11)

)

{A}



(C) 105411}
(D) 9(8/11})

In the square ABCD, E is the midpeint of CD. BD
and AE intersect at point Q. If the area of VAOB is
36 m?, then what will be the area (in m?) of AODE?

T ABCD #. E, CD = g fasg &1 BD aw
AE firg O w ufeede T ¥ I NAOB &
g we 36 M2 ¥ & AODE & awwa (2 #)

T 2
(02 09-09-2018 153 E (B)
D C
A B
{A} L8
(B9
{Cy12

{D) 24
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136

If tan 6 = 7712, then what will be the value of [(sin @ + cos 8)/(3 sin 8 + 4 ¢os 8)]7?
Qi van 8= 7/12, T [(sin 8 + cos BY(3 sin § + 4 cos 6)] T AT TG B

(A) 17/69

(B) 19/69

(€)1 17736

(D) 17/67

xkk CASE QN ERAK
*xkx CASE QN RN

Total production of company B in year 2014 and 2016 wgether is what percentage of the
totai production of company C in year 20167

¥ 2014 A4 2016 B AR U B F1H0 INE, W 2006 TFF CHF F
Fadre &1 [ ufesra 22

(A} 160
(B) 200
(C) 150

(D} 250

In the following question, select the related numbet from the given altematives.
23:60::47:7
Fafaf@a uy & fou e el § @ ddfta den & ghu

23:60::47:7

B

©

()
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{A) 74

(B) 54

{C) 64

{D} 84

Rafat started walking from point F. He walked 14 km towards north and reached point Q.
He then turned right and walked 37 km to reach point R. e turned lefl and walked 23 km

to reach point S. He finally tamed right and walked 18 km to reach point T. What is the
straight line distance (in km) between point T and point R?

T 3 famg p & wrere e R 4w 14 R 1 IR oY siv T auT g @ WugE

T | 3 e gl Sl T AT 37 B, Tee g R W UgS T 9 a1 SR e

quT 24 T . o firg s W o T agaiaaﬁﬂﬂ\‘ah??am 18 T 1, wmav

frg T ¥ T g T qwr famg R & A Weft e g e R, S a2 (B

(A) V5165
(B) 30
(C) 28

(D} V890

(B



What will be the mirror image of the given
figure?

A mé arEiy @ Zdvr uidfew Far oene

8 R
S

4 K

(A)

A g

Ad

A [N

(B)

A a

AP

A b

(©

A B

A9

A b
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()]
A 8
vP
A b

In the following question, select the missing number from the given series.
39,41, 43,47, 47, 53; 51,7

RrRiRm & Ry T et 4 q or i # R

39,41, 43,47, 47,53, 51, ?

(A) 59

{B)55

(C) 69

{D) 63

Select the correct set of mathematical operations 1o correct the given cquation.
BT12T11424253=—45

fow g adfter ) gl S & fon o EiEmat & w8 e @ g
38712711474 253=45

(A)=, =, + %

(B) .+, -+

(C)+, - + =

(Dyx, =, +, -

{A)

{
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Forces which meet at one peint but their lines of action do not lie in one plane are called

7€ 99 W) U fig Wied ot € af S9! v YTy v W W g v &, 3R
FEI A

{A) coplanar concurrent forces
B‘Hﬂ?ﬁﬂ woadt 94

(B) coplanar noncurrent forces
IITIH?E'CI Hyafo 7

g—:{) non-coplanar concurrent forces
ety wrad ga

©

(D) non-coplanar non concurrent forces
R-FHAE IR qradl 59

The centre of percussions is
TNEAFHAE

(A) same as centre of gravity

WA & Fg FTAA G

(B) point in 2 body about which it can rotate horizontally and oscillates under the
influence of gravity

o Prem T fig Red T A 75 Paesn F ivE f A masa t ok Rmars ©

(C) point of application of the resuliant of all the forces tending to cause a bedy to rotate
about a central axis
mﬂaﬁﬁaig&mmqaﬁzﬂmﬁgwmé?ma&mﬂw%m
EALLERG])

(D) point of apptication forces of the body
IRR & yar wdl @ fig
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The limiting foree of friction is
wefor 3t it Wl g

{A) the value of friction which steps the mohon of the body

T F1 A A R B I dFar g

{B) the value of friction that cannot exceed under a sitmation

T 7 Hgd W el Ry & dea ofbe w1 ) v @

(C) the frictional force acling when the bod)[ is just to mave
oYU g7 9 B T N T B RO

{D} None of these

TRAEE T

A metal pipe of 1 m diameter contains a fluid having a pressure of 10 kgflem?. If

permissible tensile stress in the metal is 200 kgff'cmz. then thickness of the metal required
for making the pipe will be

) Hie e Bt urg gy ¥ o g § R 10 kgfiom? 31 T8E 71 A% U1 H AW
TN A 200 kgfrem? 8, ) UTET §A & g SMEwds ig 31 e gl

{A) 5 mm
s fereft

(B 10 mm
10 iy

{C} 20 mm
20 for

(D) 25 mm
25 fimit

Buckling load will be maximum for a column, if

(8]

(D)

B)
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le7

UF Fiam F ferg sfei ww Hfwan @, orR

(A) one end of the colwmn is clamped and the other end is free

e BT T Ry 7@ §a § SR G R ga 8

{B) both ends of the column are clamped

AR B2 RR AR

{C) both ends of the column are hinged

Flea A RN Fer A s gu

(D} one end of the column is hinged and the other end is free

B &1 0@ i B3 @ el g 2 AR g R gaa &

The buckting load in a st¢el column is

Ve wlaw H gwfiin atg

(A) related to the length

o ¥ W ©

(B) directly proponional 1o the slenderness ratio

TEEA S & i 3w

{C) inversely proportional to the slendemess ratio

T ojar & fuda: sy

(DY none of these

1 Tl

Radius of curvature of a stressed beam and modulus of elasticity:

T TAIUR S§iF SR o & AUie $ o &1 a9

{A) are directly proportional

(A)

(D)
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(B} are inversely proportional

(C) are curvilinearly related
FHAEA Y

(D) have unpredictable relationship
T

Which of the following is the cortect sequence of operations in production planning and
control?

JaTEA e AR Frgor & PR 3 A S 91 99 &1 ad sTEr g

(A) Routing-Scheduling-Diseatching-Fnllow up
i wieh HY

(B) Scheduling-Routing- Dispatching-Follow up (A

Fren- e wia) #u

{C) Dispatching-Rouling-Scheduling- Follow up
et wfen. Segfemwia o

{D) Routing-Scheduling-Follow up-Dispatching
ey wich 3-

In reverse polarity welding: {m
et et AfeEn .

{A) work is positive and holder is earthed
TTH FHRIAD & AR 4RF

{B) holder is positive and work is earthed
YRE GBS § IR PH
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(C) work is negative and holder is earthed
T TERIS § 3R URD

(D) electrode holder is connected Lo the positive and work to the negative
TIHRNT YRS TR J 5T §H Y 3T THREE W FH FI0T &

The brown lame during the operation of the Bessemer converter signifies:
FHHR FAET & TEIeH & SRM 4T A 98 Td Bl ¢

A) that silicon has burned out and carbon has started burning

Rt v e o 3 R FEF ST v

{B) that air is burning out the silicon and manganese resulting in high increase in
remperature and scrap steel needs to be added 10 control the temperature

o a7 g1 Ffdret= &1 wan W & SR s & AA A SH AT
3R e Y Prifva B & fivg B © ® e fear o oty

{C) thart carbon has burned out and silicon has started burning

fo o wren fown a1 § IR Rt e @t mar g

{D) None of these

TR A B T

In braze welding, which of the following is true with respect to the filler metal?
A. It is distributed by capillary attraction

B. It is melied and deposited ai the point where the weid is 10 be made
C. It is not required at all

o 3R A Prfafea AR A T e ey S v AaR

A. T8 PR s gr1 fafya frar o &
B. U% faemm 3R 9w fig = o e v € ofet i s = 8
C. g fiwpa snwus

{A)only A

(B}

(B)
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AT A

(B} only B
B

(C)both Aand B
A T B

{DYonly C
HAFC

In a closed system

e o fren o

(A) energy transfers from surrounding to s‘g‘stm

U § et R B 2 Reew

(B) energy wransfers from system to surrounding ©
el SIRIUIR H RIFIROT F1e 8

(C) encrgy transfers from system to surrounding and vice-versa

ey & Sl sraarg § —ria B § ok 799 fudia of
{IN None of these

LRl

The Ratio of inertia force to elastic force is known as <)

ArTer 96  fw afa aa S1 SRuTd I8 A S e

(A) V{eber Number
R wE

(B} Reynold’s Number
LAkt
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{C) Mach Number
g T

(D} Froude Number
BRI &

For a fluid flow according to boundary layer concepts, separation occurs when the
T R @RS F SFER aXE WA ¥ Y, 30 o S g o

(A} pressure falls to zero.

ZaTG X[ 8 S 8

(B) pressure rise is sudden and rapid {D}
TEE gig sraHd IR AW §

(C) chiterent boundary layers come acrass a sharp tam or bend

Sreret. 3rem e T dE Hrg a7 Hig d 3 3t anch ¥

(D) boundary layers of the fluid becomes stationary
e gErd @t o wE R 8 o 8
A submerged body will be in stable equilibrium if the centre of gravity is (A)

S g gon Fipra R dge A fmr, TR ARA o1 g

{A) below Lhe centre of buoyancy

DRI H IR

{B} above the centre of buoyancy
IO S 5 P FW

{C) coinciding with the centre of buoyancy

3014 & Hx Y P

{D) None of these

TR AP 7l
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Entropy change depends on

et ofada Pk s d

{A) heat iransfer

BT g

{B) mass transfer (A}

S F1 gLl

{C) change of wmperature
feUic]

{D) thermodynamic stale
ynigmifies Rufy

Work is considered to be a superior form of encrgy as compared to heat energy because

Toff T Bt e B B ot T (@ Fea? WU w9 & e

(A) work is direct energy
IV S &

(B) work is useful form of ener,

T S BT UP JUGNT EG ©

{C) while werk can be lully converted into heat, heat cannot be fully converted into work
Loe) Hovg e A uRaffa o S srm . U P g IFm A
feafia & e ST awar

(D) it is often required to converi heat into work and not vice versa

R AT P B 7 Fee- ¥ ¥ 3981 yawsd 2 § o 5a RAuda

The viscosity of a gas (BY
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& 9 3 fRufage

{A) decreases with increase in termperamure

AR R B A T R

(B} increases with increase in temperanire

anrs ¥ g %y g

(C) is independent of temperature
AT & @R

(D) is independent of pressure for very high pressure intensities
aga i | o & Ry @@ A |aa ¢

The vapour compression refrigerator employs which of the fotlowing cycles?

e ddife Wraer Fafafad ol A ds wad Fxa 32

{A) Rankine
WA
{B) Carnot (D)

(C) Reversed Rankine
IaeT SHaEA

(D) Reversed Carnot
I

The operation of finishing a drilled hole to its right size is known as: (A}
U {3 e e 3 B A TR HHR W QU B F AHTGYU B S A8

(A) Reaming
ot
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{B) Counter boring
PR AR

{C) Boring
aftn

(D) Tapping
e

The mould for casting ferrons material in continuous casting process is made of:

A. Low carbon steel

B. Medium carbon steel
C. High carbon steel

D. Copper

PR Sfey vl & e anel eft & R de s dar g

A DR BE T

B. HUIH TTa Wid

C. TR FEA Eq

p.ow (©)

{A)only A
B A

(B) only B
FaaB

Cyonly D
D

{DyNoneof A, B, Cand D

ABCRD AT T

The hest all-round coolant for carbide tools ¥s: {A)
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FAES ITH F e T srat ag-qdt sfias 3

{A) soluble oil in plant

{B) kerosene

edfteraa

{(C) rpentine oil
Faa

(D) compressed air

T g2

Which of the fellowing is a typical disadvantage of a roller contact bearing?

FrefafEa & 3 o1 1 JoR 9uF o & T TR JEEA

(A) High initial cost
FH U TR

{B) More liable to shock leads

& HR & g siftre Foverd!

{C) High precision

I g

{D) Requires high lubnication
I WEd B HETWaa ¢

A two stroke [C engine has a stroke length of 120 mm and cylinder diameter 80 mm. [ts
mean sifective pressare is 4 x 105 N/m2 and the crankshaft speed is 1500 rp.m. What is

its indicated power {in kW)?

P 3 A oA H R aa 120 firdt o Rdfet o so fidt ) @@y
i b %ﬂﬁeaﬁﬂﬁlsm m.tﬂ.u?%twaﬂﬁﬁs

U EaTE 4x 10 T/ 2 8 3R
¥idd 0 8 Fs=g Ay

(D)

(D



102

{02

09-00-2018

09-09-2018

185

186

(A)1.92
(B)24.12
(C) 60.3

{D) None of these

B TE

In an ]C engine, the connceting rod connects which of the following pair of parts?

T HEE 39w |, e e ApfiRa it i s I s asm e

(A) Piston and crankshaft

{B) Cylinder and crankshafl {A)
(C} Cylinder and piston

fRrefev ol fre

(D} None of these

During starting of the engine, the journal bearings operale in friction. (o]
3 @ PEHE & SR, SHE ST uor A ST Bl 81

(A} rolling
AR

{B) hydrodynamic friction
b



(C_) partial-filrn

(D) None of these
ATE

Which of he following types of air compressors is being used in gas turbine?
1 oa= & e o < o VPR 3 UAR SRR ST U T S <e 87

A) centrifugal type
HER

W2 09-G9-201% 187 {B) reciprocating type
TRERS TPR

(C) lobe type
GICRCAN

{D) axial flow type
3 a8 FHR

102 09-09-2018 188
The kinematic chair shown i the above figurzis a

o TEn-fery & S fEdafew e femmd
R

N
4

Y
g AN

=

(A) structure

(I

(e}



=

(B).mechanism with one degree of freedom
e @1 g 3l & any

(] mechan‘jsln with twe degree of freedom
3 ot ol & vy foantafy

(D) mechanism with more (han two degrees of freedom

N R aftw ST T Iy

The number of degrees of freedom of a five link lane
machanism with five revolute pairs as shown in the
figure is*

oz A Rwne e o e S ¥ wy Og
forr oy frufufy & = & Bhe &

Heam &

102 09-05-2018 189 I

(A)3
(B) 4
(cy2

o)1

102 09-09-2018 190 What is a rotarneter used to meagure? (D)
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eTHIER T AT & g SRawTa feban sirer &

(A) pot‘emial energy slored in a spring
o 18 & wudle s S

(B) rowational speed of a shaft on a workshop machine

s ST A O3 U W @1 guiE il

(C) amount of torque applied
CUGE AL e

{D) flow rate of Liguids or gases in a closed tube

U §% ogd W v ugr a1 e T v

A sine bar is a 100l used 10 measure:

TS 9 IR A9 & oy gt fan o1 arel 0 Jus ¢

(A} length
(B} thickness

(C) inner diameter
il =

{D} angles

Steel which contains elements for the purpose of modifying the mechanical properties of
plain carbon steels is called :

W R wre srA Wiea F 1ifie o 6 Toiniic @ & R daa TRa g,
I HE WA &

()

(A)
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{A) Alloy steel
A

{B) Invar
R

{C) Stainless steel

(D) High speed steel
denfe @i

Alloy steel containing 36% nickel 15 called :

16% Frae O Ui el &) B war 8

(A} Invar
gdaR

{B} Stainless stee!
®I0

{C) High speed steel
GlELREST

{D) None of these

TR AP

Which of the following has excellent resistance to acids?

frafafee & s d s & e svr ofdiy @2

{AE Permalloy

(B) Constantan
BT

(A)

(<
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<) Hastj:lloy
[iduse

(1) Monel meral
HIoTet YUy

Depreciation of machines is categorised under the head of
ol & fangees ) fare v & R wifga fewr @

(A} direct expenses
R

{B) indirect expenses
Xl

{C) receipts
i

(D) administrahve expenses

In a capital intensive production sysiem, the dominant position is occupied by
T Yot W Jeuig woelt &, v fufd o3 aren v o &
{A) replacement policy

Mfa

{B) labour policy
W A

{C) capital investment policy

(B)

(A
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(DD} material procuremeni policy

The purpose of micro-moticn study is te
HIGHI-HIRE 4T F1 Ie%0 B

(A) assist in finding out the most efficient way of doing work

FT I T 968 THIE o1 Gio T qeEar e

(B) train the individual operator regarding the motion ¢conomy principle

nfa srforges faglio & ey W St aifuve @) uiRidd 3

(C) belp in collecting the motion time data for synthetic time standards

$EH 95y IS & fau 1 W 32 '@ IR F HEE e
(D} All options are cotrect

o Rr wdl &

Which of the following are typical characteristics of a Pelton wheei?

fafaiea & @ #F X Yaea o ) Rt b §

(A) Works under a low head and requires large quantity of water.

S & TR ¥ T 710 3 § IR T A 9 ) s gl 8

(B) Works under a low head and requires smal quantity of watet.

Ueh A WHE F I & Fa 8 o) aF w2 wen ) sraggma g 1

{C} Works under a high head and requires large quantity of water.

T 39 UGE & 19 o1 ST & 3R arh i o<t wen o srawgesar B 81

{D) Works under a high head and requires small quantity of water.

U 39 WE $ i T AT § R O Y i wmn ' sraaear gt 31

In a centrifugal pump, the flow enters the chamber along the axis of the chamber and is

(D)

{D)

(A)
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discharged:

U FEraart 4u ¥, vare Fa ¥ oyl & vy ¥ 139 $3d1 & R Seramre:

iA) radially

(B) axially
e = 8§

(C) at a certain angle

% A FUTw
(D) None of these

AT T

Hydraulic press is a device used

FEgIfte 09 U@ 9l § ot some R s §

{A) To store pressure energy, which may be applied to any machine later on

T FH B A F 8 g, Rord wreg F et oft vty o ey v o g &

{B) To increase the intensity of pressure of water by measure of energy available from a
large quantity of water at a low pressure )

FH TG W U Bt 0 T A I IuH F1 $ 919 A uri ¥ gaE 9 digen d
I & g

(C} To lift larger load by the application of a comparatively much smaller force

TAETE 0 1 A B AR F WM ATS YR B IS F B

{D) None of these

THRABE T

What is the pnmary function of a steam trap in a boiler? (D)

Fraer A HIq Stre &1 weiE wd Far e
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{A) Recover heat from exit gases

e

(B) Increase temperature of steam above saturaled lemperature
T AUAE F FHR UG F dHE H

(C) Separate the water particles from the steam
MY R U & DU HAT Y

(D) Drain off condensed water accumulating in the steam pipelines

IO AR TR & o geeeita a B e

Gas turbine plants can have: {D

A. Multistage compression

B, Heat exchangers

C. Reheating For maximum efficiency which features should be incorporated in gas
turbine power plant?

Iy AT PR A B O B

A g TEE

B. &3 faf s

c. e md Tenfiman amar & R g Talza meR @ie F F1F W Aty B
i frmr s anftm

{A) A only
Fad A

B) A and B only
AdR B

{CYB and C only
BIRC

(D) A, B and C only

FIWMABIR C
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Which of the following plants will have the minimum running cost?
FafufEa 7 3 5= wREE & 38 9ar @1 avra gaa g

{A) Nuclear power plant
UIHIY] & HREE

(B) Diesel power plant (D)
o PREAFA

(C) Thermal power plant
A9 & FREM

{D) Hydro power plant

TG ol FRETT

An interconnected system has the following plancs: (D)
A Run off river plant

B. Nuclear power plant

C. Steam power plant

D. Diesel engine power plant

Which plant can be exclusively for peak load?

U@ 30 IRER Tu ogae § Rgfefda srem erl 8

A maﬁm;ﬁaﬁfam
B. TUTY | HREM
¢y feard s
D. Tiod $9H TR BREHT

T FRE TR UR F g e Fu gl asa &

(A} A
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(BB
A C
(D) D

Quality circles:

TS -

(A} are the boundary beyond which product quality can be improved
i & Rrgd 3M IeaTe B U A gUR M IHa g

{B) bring beiter human relations with top management in their combined commitment Lo

; {<h
quality
T[OTE % WY FgE widagar ¥ H98 geeE & Ty dga 0 dey g
{C) are essential 1o get 150 9000 series certification
31! 5000 ST TN AT B 3 FNY ST ¥
(D) All options are corect
Forecasting provides guidelines on: {Dy

A. How many of the products produced are likely 1o be demanded by the customers
B. Amoun! of business. the firm can expect during the planning period
C. Materiais requirements schedule

TR 38 W R vem war d:

A. FNIR sl A fsa Iaarel Bt et g1 Him B S W §
B. BH Pl sraffy % 2R orag & Wil &t feeht gnile & o aadt @
¢. Al sravamari g

{A)only A
HITA
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(B)only B
B

(C)only C
FAAC

{DYA,Band C
ABARC

When bevel gears connect two shafls whose axes intersect at an angle greater than a righr
angle and one of the bevel gears has a pitch angle of 90°, then they are known as

g 999 R <1 W0 F 9SS § e oy 2 Bt 4 ofie ux Sea § o 389
frrdAAe Ao RN T PUdad, AT ?

{A) crown bevel gears

GIC
(A)

{B) mitre gears
(C) internal bevel gears

{1J) angular bevel gears
#3a

In assembly section, which of the following parts should have their section lines left out or (<
shown 1 solid black?

srifarelt Samm o, Py R 4 F a1 um o ST oRT PSP o™
o7 T ¥ fegng s ey

{A) Bolts
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(B} All fasteners
Tt e

(C) Thin parts
e M

{D) Rivets

When there is a reduction in amplitude over every cycle of vibration, then the body is said
to have:

Glaa';qaé?mww s ¥ Fi fR E, @I e F T en S Ru e
[EILIE-f

(A) free vibration
ol P

{R) forced vibration
T A

(C) damped vibration
G E|

()

(D) nnder damped
WA H AR

In a supersonic flow, a diffuser is a conduit having {A)

T GUIAE Tan 3, U s U dage & el

{A) gradually decreasing area
- oY wear &7

{B) converging-di:l;Fing passage
o fa=e



{C) constant area throughout its length
U vaR F AR &
{D) None of these
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Answer

Questions Key

Which of the following provision can be amended by the special majority of Parliament?
Frofafea % 4 91 31 wayE S92 & AR 9gua 3 Safa fEm s gwar e

{A) Use of official language
HIST 57 T

(B} Fundamental Rights {B)
(C) Use of English language in Parliament

e A S Y BT

(D) Fortnation of new states

= T =1 fAwfor

In May 2018, Imemational Conference based on the TRIPS CBD Linkage was held in {A)

7% 20138 B, o et} Rida w enuits sl wiem o smaifom g

{A) Switzerland
{Bj China

(C) lsrael
EEREG
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(D) United Arab Emirates

e o iR

Which of the following depicts the nature of the image in human eye?

Pufafea I3 o o3m 3 offe A wiefaa 3 upfa 2zl s?

{A) Real and inverted
FreafaE qurse

{B) Real and eﬁ:ﬁ (A
aul

{C) Virtual and inverted
HruTel U et

(D) Virtual and erect
SR Fu Weft

In July 2018, which af the bank have joined hands with State Bank of [ndia 10 provide
collateral free credit through group Jomnt Liability Groups in Telangana?

s 2018 7, PG ¥ 3 AEmier J S <9 B8 & T | 9uiie gaa e
mm*mm&%@?ﬁm%

{A) IDBI Bank

(B)
(B) NABARD
e

g_:a);Bank of India
s 3

(D) ICICI Bank
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For which age group UIDA! has launched the blue ¢olour card?
garEdeans 3 e g avf ¥ R idk 1 % #1E 1 Arprdvr o 22

(A)O =5 vears

0-53%

(B) 0-- 7 years
6~7

{C) 0~ 10 years
o-loTH

(D)0 - 12 years
6-12

In the following question, out of the four alternanives, select the alternative which best
expresses the meaning of the idiom/phrase.

Actions speak londer than words

{A) what someone actually does means more than what they say they will do

{B) Words are very powerful they can move mountains

{C) the pen is nmghtier than the sword

(D) those who bark seldom bite

In the following question, out of the four alternatives, select the alternative which is the best
substitute of the phrase

The vse of irony to mock or convey contempt

{A) Accolade

(B) Eulogy

(A

(A)

(D)
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{C) Plaudit

(D) Sarcasm

In the following question, a sentence has been given in Direct/Indirect specch. Out of the
four alternatives suggested, sclect the one which best expresses the same sentence in
Indirect/Direct specch.

He said to his friend, "T will be driving to the city tomorrow."

(A) He informed his friend that he will be driving to the city the next day.

{B) He informs his friend that he would be driving to the city the next day.

({C} He informed his friend that he would be driving to the city the day next day.

(D} He informs his friend that he will be driving to the ity the next day.

The question below consists of a set of labelled sentences. Out of the four options given,
select the most logical order of the sentences 1o form a cohercnt paragraph.

To serve more pedestrian

A-street food vendors congregate

B-each evening at the riverside

C-gastronomic pleasures, Siem Reap’s

(A)ACB

(B) BCA

{C)CAB

(D) CBA

Answer the given question based of the following passage. Socrates tried to answer the

question, "How lo [ive?’ Kierkegaard attempted it, too. Pasing the same question to the
average Indian, one can expect such an answer; get educated, find a decent job, save money,

(A)

)

(B)
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gel married, procreate, save more money, build house, ensure safe reirement and die. Of
course, some indulgence in entertainment now and then, or daily, 18 assimed. Anybody wha
strays from this trodden path is dismissed as a lunatic.

What is a person who does aot follow the normal way of life is regarded as?

(A) He is understood to be sensible.

(B) He is considered crazy.

{C) He is dismissed as a visionary.

(D) It is thought he1s an ascetic.

Marks oblained by two students are in the ratio of 7 ; 5. The preduct of their marks 15 2835,
What are the total marks obained by both the students together?

B faenfifdl gR wia fq g 30k 7 - 5 F SR A 1 375 Pl P1 UAGT 2835
I faenffal gry fremee wa Fa oF Rea &

(A) 109 ()
(B 118

{C) 108

(D} 119

In a beaker. liquid A and B are in the ratio of' S © 7 respectively, In other beaker, liquid B (B)
and A are in the ratio 13 : 11 respectively. In what ratio, mixtures from these two beakers

sheuld be mixed to get a new mixture containing liquid A and B in the ratio of 9: 11

respectively?

T fiwH3 & WA A T B FIC: § - 75 300 U 81 U@ 30 §iF A TAB U A
TG 13 ¢ 11 $ o0 & 81 37 1 i3 H 3 fywoll ) 5 srure § firarn s
anfey aifes U 72 9001 T 3t ST Fored ot A T B FHE: 9 - 11 F SFUE HEl

(A34:]



{By1:4
<1:3
(Dy2:5

In a AABC, AD is 5 m. The respective ratio of BD
and CD is 2 : 3. If the area of AABD is 24 m2, then
what will ba the area {in m?) of AABC?

AABC & AD. 5 #. ¥ BD #ar CD & FAW
U 2: 3 &) TR AABD #1 IR 24 A2 g
o AABC @ &=wd (#.2 &) ==n B

A
1} (9-09-218 13 (A}

{A) 60
{B) 78
{C) 36

{48
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IF 6 < A < 90°, then what will be the value of cosec A — cot A? &
afg ¢ < A < 90° B, T cosec A - cot A 1 H F4T TR

(A) V[0 - sin AX{(1 +sin A)]

(B V{1 - cos AW(1 + cos A}]

(Cr (1 +sin AL - sin A))

(DY V(1 + cos AY(1 - cos A}

hkkdk (CAQE QN E1T 2]
dEAR CASE Q‘N Lats ]

What will be the difference (in Rs} between seiling price of article A and profit eamed on
article C*

G A F A0 R a1 3G C R T A & HeR SR (B ) J e (B)
(A} 7000
(B} 13000
(C) 20000

(D} 17000

In the following question, select the related number from the given alternatives. (A)
54:197::96:7

fFrafefea ny % Ry e e # § w6t gen @t gha

54:197::96:?

(A) 239
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(B) 229

(C) 249

(DY 219

Eight boxes A, B, C, D, £, F, G and H are kept one above the other. There are 4 boxes
between F and C and F is kept above C. Total 7 boxes are kept above C. F is not kept
somewhere between D and E. One box is kept between the F and B and B is at filth position

from top. There are two boxes between box D and box E. Which of the following box is at
fourth position from the top?

313 ¥R A, B, C. D, E, F. G TUTH 31 T ¥ S TF @I 71 ¢ F a1 C & T 4

RRITFAHICHFIRTWM I CHIFRTI I FA RN FF DINES

0 S it 7 T T | F AT B ¥ Aol U F¥em 3@ T § a1 B FX A o

gﬂﬁﬂ'{?l %gnam%w eFrndfFay feffadisRafaewd )
AR

(AYD
{BE
B
(DyDorE
DIYAIE

(A}



In the following question, select the related
image from the given alternatives.

Hefaied 9% # XU v famewt & @
wafaa spfa & gav

(E)Am’?

(A)

(B)
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(D)

PN

1 the following question. select the odd number pair from the given alternatives.

frufafaa vy 3§ oy Rwsd o 3 e e gw a1 3R

(AY11-119 ©
(B} 13- 167

{C)18-326

(D)24 - 574

)



By folding the given figure, which of the
following cube cannot be formed?

& T T F Aer, PR F ¥
FE O uS J€ gArar S Tear &7

(A}

(B)

(<)
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o)

If a particle is moving in Simple Harmonic Motion in a simple pendulum with some period
of oscillation, then in order to double the period of oscillation

Tf T2 FIUROI % v &0 W FHFE A ¥ o SR F AN @ WA @
for gue) feer ot ol S A a9 & g
{A) mass of the bob should be doubled
ia %1 fifs S v 3 afae
(D)

(B) mass of the bob should be halved
dla & fis 3! U= T ey

{C} length of pendulum should be doubled

tgem ot dard i iRy

(D) length of pendulum should be quadruplcd

A wound watch spring possesses energy in the form of (%]

@ & adt R o &) few =u ¥ yurRo B @

(A} kinetic energy



(B) spring energy
f&in
{C} mechamcal potential energy

(D} none of these

TR A B

If on removal of effeu, the machine is capable of doing some work in reverse direction, the
machine is called

m?ﬁmw,mmmﬁwmmﬁaw%.ﬂwmﬁqﬂm
Elo)

{A) reversible machine

01 09-08-2018 23 (A)
{B) irreversible machine

(C) reversible or irreversible
a0

{D) both reversible and irreversible

101 09-09-2018 24 (B)
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The detigr of & ecterincally lsagec columr needs

tevision when
rr SedfE e & W OEr s R e A
i & anavaewm Ak,
{mé—:{:‘_cl [bl£-£ <1
[3 L j: H
Je S L_A
[C}E 7’7’1 [ﬂ]}-;' :—‘-ﬂ-.bl
whete,
I,

f. = calculated average axial compressior streas
t: = e WO T A wahT wdeA AAE

fi = mammum allowable berdirg compressive stress on
the ectreme fibre.
o= WA FEW W HowAA =eed g

s oA,
fy = calcudaled bending stress in the extreme fibre.
1, = UL P57 # RETE ST §I GG AATT

{A)(a)
B (b
€re)
D) (d)

Bending moment M and torque T is applied on 1 solid circular shaft. If maximum bending (A}
stress equals maximum shear stress developed, then M is equal to

T 09 M 3R EB T U BN e WU W A foar e 71 AR st g
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e, feRa fieaa Fall e & WaT s AT M T E
(A TR

BT

(C)2T

(D) 4T

Which among the following are the types of normal stresses?
B A S & | aea 87

(A) Tensile and compressive stresses
T IR eftgF e

{B) Tensile and thermal stresses

a9 R andig aArg

{C) Shear and bending
EAEaC)

{D) Compressive and plane stresses

U 3R T

The shear siress along the principal plane subjected to maximum principal stress is:

e f3mr # sy fRioy /Y ey &g aa ¥ sf= §

(A) minimyum

AN

(B) fmaximum

(C) zero

€

(©)
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bl
(D) any vzlue depending on loading conditions
et b oY S g My A

Which of the following statements is true?
T i s s TE S

(A} Procurement cycle time is time consumed for receiving of raw material

WIS 9% WY I8 W & Ot = 1 &1 W $3 3 forg ren &

(B} Procutement cycle time is time consumed for inspection of various raw materials i

TG 7% THY 9 9T § 5 R w7 o % P & sy dar e

(C) Procurement cycle tinig is time consumed for inspection of purchased components parts

STIfEY =1 W 98 WR & o W 0 gl 3 e & Prteror & i vpee S e

(D) All options are correct
AP we §

Too fast welding speed in arc welding would result in: (Cy
e AT 1 wgw ol & AR it vfey F aiomEE:

{A) excessive pilling up to weld metal, poor penetration, wasted electrades

i v& wig aan eng, wfem (3w, FHER SRSy

(B} excessive spatter, under cutting along edges, frregular, deposit, wasted electrodes

R & ey BT & aza, fafta, 9m, galE ©es

{C) too small bead, weak weld and wasted electrodes

I BT HAH], FHOR dcs IR 7815 RIS

{D) excessive pilling up of weld metal, overlapping without penetration of edges, wasted
electrodes

g urg # st Rk, fFRY & wdw & o shaafii, seie T
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[nert gas arc welding, which of the following is used for welding magnesium?

ﬁlﬁ;ﬁﬂ%%ﬁﬂﬂ,ﬁgﬁ%ﬁﬁﬂﬁ?mﬁ%ﬂﬂiﬂmﬁmwm
T 87

(A) non-combustible clectrodes in combination with belium and D.C. current

T A A AR IRiH ¥ HaA S Wy S 3R D.C. AT

(B) combustible electrodes and argon in combination with A.C. curremt
& HaIeH & WY A.C U

(C) straight polarity D.C. current
D.C. WEIF

(D} carbon dioxide, because of its excellent peneiration and high speed
FTd SFIMTES, THF ToH 1A AR 3= 1R & orw
The function of the flux in the blast furnace is/are;

A. To bring down the softening point of the gangue material
B. To reduce the viscosity of the slag

C. To decrease the activity of some components to make them stable or unstable in the stag

phase
Of these, the correct statement(s) is/are:

e vl AmE e 2:

A Yiurh grRf % R fig 3 A

B. T & g $1 79 ¢ & fag

%_gﬂaﬁléﬂmﬂﬁnm JRR TN F s RN A sy A F R
?TRFHE:

{A)Only A
A

{B)Only B

(A)

(D)
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¥adn

C)Only C
C

(D) Al! options are correct

Which of the following are intensive properties?

{1) Kinetic energy
(2) Specific enthalpy
{3) Presgure

{4) Entropy

PR ¥ P Eam U

(1), FRARE F
(. faftrg wend
(3). 29

(&), et

{A) Onty 1 and 3
Fad | A3

(B) Only 2 and 3
Fad2 R 3

C)Only 1, 3and 4
1.3 4

1 Ouly 2 and 4
%ﬁzah‘u

A untform Now is one when

T SUREERIT Hars a9 & 5E

{3

(A}
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(A} the flow parameters at any given insiant remain same at every point

faddl ot Ry 7Y depTa W o Wi g R ua fimd §

(B) the flow paramelers vary uniformly throughout
TETE TRTHTeR 83X 98 BHF w0 4 i aa%

(C) an unaganary situation

U5

(D) non-existing

The wetted perimeter for a pipe running full of waser is equal 10: Where d is the diameter of
the pipe.

Al & 1Y U 959 15T ¥ R el ol st §: ol d agu s e 3

(A) md/2 ©
(B) 2rd

{C)ymd

(D) =d12

The intensity of pressure in a liquid due its depth will, very with depih: (A)
UF 0 | 91 3 o 39w M0 & S, 1w A s el

{A) directly
Tag FUY

(B} indirectly
LTI

(C’) directly and directly
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Ty AR Hy T Y
(D) None of these
A T Ad

Addition of heat at constant pressure o a gas results in
g N g i % Sirg %1 v <ara ®1 afvom g g

(A) raising its temperature
3T UM B TgT /T

(B) raising its pressure {Mm

3 S F g1 W8

{C) raising its volume
TYF 3T & GG
{D) raising its temperature and doing external work

ST AT ST 3R STgd &1 &A1

Three metal walls of same thickness and cross sectional area have thermal conductivities
2k, 4k and 6k respectively. The tempcerature drop across the walls (for same heat wransfer)
will be in the ratio:

U W R B Je-d 836 S dF org EaRT ®! i araed SEL: 2k, 4k
IR 6k ¥ ) EraR) H aomre & writ @ g gwiEre ¥ fH) feg s ® gt

{A) 3:2:1 _ (D}
(B} 1:1:1
(C)1:2:3

(D} None of these

ERUE LIER
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Extensive property of a system is one whose value :

T o) &1 g Huf o § e e

{A) depends on the mass of the systetn, like volume

oo F1 oeg, ol & gorem ) Pk swarg

{B) does not depend or the mass of the system, like temperature, pressure €Iic.

TIUHTA, T4 37 BT AE, WUTet B gogaq R it T swar g

(C}is not dcpeudcnt on the path followed but on the state
arer A gY i 8 A Rfg w R

D)i IS cndent on the path followed and not on the state

fie g ol fufa =g

Which of the following vefrigerant charactenistics change constantly during the cooling
cycle?

e 9% & IRF PfafRa § @ F9 o Higae fELuan avmar semet &

{A) pressure and phase
T IR WO -

{B) temperature and pressure

I IR &9

{C) phase and flow
=R AR VaR

{D) flow and pressure

oarg 3R Ea1E

{rrnaments are cast by:

Tt Y T S 3

{A)

(B)

6:)
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(A) continuous casting

fimzag

(B) slush casting’
o

(C) die casting

) centrifugal casting

The function of a flywheel is to

e FH g

(A) facilitate start of machine

WA 7 goara & glawr

(B) smooth cut power impulses

HERE §451

(C) act as pulley for bel drive
154 & forg wvell & wu e B

(D) to store energy for periods of failure of main supply

% Yl o favmaa & sty ¥ g oef 1o A & R

After cold forming, steel balls are subjected to:

3 TN & e, Wi el & sfia g

{A} normalising
HHE

{B) tempering
RUGEZS ||

(D)

{D}
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(C) electroplating

{D) stress relieving

1 giad B

Quick rewn motion mechanism 1s typically used in which of the following machine?

e e e frafafty smdi @R ot A & fo= wil & S R a3

1A} Open die forge

LRI

{B) Hydraul press
it

{C) Shaper

U

{D) Lathe
[

Rotary compressors are suitable for
et FEEY Iuge 3

{A) large discharge ar high pressure
o] Gdld O 931

{B) low discharge at high pressure
O] Gl YT HH

{C) large discharge at low pressure

TA gE W ag B

()

©
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(D) low discharge at low pressure
TN TR W FH P

The typical air fuel ratio in a diese] engine under rated conditions lies in the range of?

v ot 2o 7 ot arg du argura Prfva Rt & aea e dimal 4 Pfga 32

(A)1010]
108

(B)20to 1
2081

(C)5010 1
509 |

D) 2to1
2%

In four stroke cycle engines, an ample amount ol
exhaust processes.

TR T TP dorl A, A 3R R femail % 2R
&1 I fEm AT |

{A) heat
ff

(B) pressure

CLICE

{C) power
e

(D) None of these

TRASE T

(B

is used during intake and

Bt wie wrn

()
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09-09-2018 47 If a light ar.d a heavy body have equa!l kinetic energy of transtation, then

af2 T oo SR W AT A srare # waE e ol ddt g, @

{A) lighter body will have smalier momentum

g TR A e i gft

{B) heavy bedy will have smaller momentum

TSt ey it

{C) both will have same momentutn

3 T gl el
{D) unpredictable
YT

09-05-2018 48
The given figure shows & an

fem m rm-rem fE@ran € WEARE
@
@ !

i
S

(A} locked chain
o4 HEdl

{B) constrained kinematic chain

g

{C) unconstrained kinematic chain

HEd

{A)

{C)



(D) mechanism
fermfafe

It is given OA = 3om. AB = SomBC = §ocm. and
OC=7cm

The four bar mechanism shown 1r the figure )5 a

TR k. 0A = A AR = sHA
BC:=eWal sy oC-7aam

w-fe & femrn oo o) ar ety ow

s
101 05092018 49 / (©)
0 “l.c

{A) Double crank mechanism

5l b ReaifRfy

{B) Dogblc rocker mechanism
A TR

%C{fmk rocker mechanism
T[PT

(D) Single slider mechanism
LE B I ETY
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Which of the following statements 15 true? {A)

PR A I FH AT TS

{A} A comparalor needs to be calibrated
U T B S B TS §

{B) A comparator need not be calibrated

T A3 1 S 3 HIEavPal T4 §

(C) A comparaior contains a calibrated scale

& gl A U@

(D) A comparator is highly accurate over ils complete measuring range

% i Ao quf B Hte R

In a micrometet screw gauge, circular scale is marked on:

T ARH U9 YA ¥, TR T R g

{A) thimble

(B) ratcher (A)
AR

(C) stud

(D) sleave

Hardness of steel depends on : (B)
W @ FIRA 38 R R Hi &

{A) amount of cementite it COTAINS
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Wecame AR aiEd

(B) amount of carbon it contains
Y T ) 3a e ¥

(C) contents of alloying elements
oy g ol @t ITITF,'E

{D) method of manufacture of steel

i & Pmior 2 Ry

An alloy steel contains :

U gt We d it &

(A) more than 0.5% Mn and 0.5% Si
0.5% & 34 Mn 3R 0.5% Si

(B) less than 0.5% Mn and 0.5% Si
0.5% B FH Mn 37 0.5% Si

{C) more than 0.35% Mn and 0.5% Si
0.35% & 3B Mn IR 0.5% Si

(D) less than 0.35% Mn and 0.5% Si
0.35% THEA 3T 0.5% T J H9

Stcel which destroys by buming is called :
e ot o @ T @ ot R 3w e 8

{A) Alloy steel
ererhe%a

(B) Carbon stecl

(A}

(m
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{C) Silicon steel

(D) Killed steel
wa

Use of CIM 1echnology offers a layout architecture where computation takes place

Frapdun g &1 IuT oF gon nfHaat UeH a1 § S5l Mo Skl §

{A) using line information
TS AASH &1 39U &

{B) using virtual memory
wfa B WM

(C) using on line information and multi-processing
I TG WEHI &1 STHAT IR

{D) None of these

T B 5
Product cost implies
JaTe; AT P A §

{A) primary costs
iG]

{B) primary cost and fdctory overheads
W GG

{C) factory expenses

{D) primary cost and factory ¢xpeoses

TUIEE Td 3R PREH &

(9

(D)



3-dimensional iconic models
3-fare wfafda wisa

{A) convey more or less a real situatien

EILSIGEd B EH W NG 5 BT

1M 08-09-2018 57 {13) can easily check the overhead structures DY
N § RS TN B AE = 9Fa ¢

{C) can easily explain the layout 1o management
X v ) AIIT T TS ¢

(D) All options are comrect

1t is known that *H’ is the head of water under which the turbine is working, The power
developed by a turbine is

I B 1 el T waE 2 FS dBd TR S B IE B 1 U @R g
AR ’

{A) Direstly proportional to H2

H2 & @ WY srgones
101 09-09-2018 58 <y
(B) Inversely proportional to H'/2

H'2 % feorg faudtas:

(C} Directly proportional to H¥2

H¥2 & g wY e

{D} Inversely proportional to M2

132 % R favdiaa: Suids
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In a centrifugal pump, the liquid enters the pump
T HHUARS G0 H TR (Y K @ FRar g

{A) at the centre

{B) at the top
o R

() at the bottom
TR

(D) None of these
e T
High specific speed of turbine implies that it is :

TERA 31 9= Rftny nfd Frared 18 &

(A) propelier turbine
e TXERA

{B) Francis turbine
il TEEEA

(C) lmpulse turbine
UG O

(\D; Franeis turbane or impulse turbine

Wity FXaE I 3w AT

The presence of reflector in nuclear power plants resuits in:

TR 3ol PREH! H Uiade® @1 Juieufd & oo 3.

{A) increased production of neutrons

(A}

(A)

(D}
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B IR EE

(B) fompletc absotption of ncutrons

R T BT YR HTL O

{C) controlled production of neutrons
ety 1 frofEa gaea

{D) decreased leakage of nevtrons

g1 o feama 9 oot

The fuel needed, with reflector in nuclear powet plant, in order to generate sufficient
neutrons to sustain a chain reaction, would be:

Qe TR ell SRR B R ¥ ar, sf@en vRifar B §9) 7@ ¥ fag afa
APH I B & g, dv F v, gg Bt

{A) more
{B) less
“H

{C) same
W

(D) zero
T

A diesel power plamt is best suited as:

T S TR Wi WEA S 8 -

(A) base load plant
S w@ic

(B) stand by plant

(B)

{B)
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e Wi

{C) general purpose plant
G 3 WK

{DY None of these

LECRE

A thermal power station was designed 1o bum coal containing 12% ash. When the plant
actually started operating, coal having 22% ash was made available. Which unit of the plant
will need major mogifications?

T YT U R 3 129 T4 G HIad B Tom F fag waifed fear o i 9w
IR AR H F7 T3 & 0 & ¢ g1 71, 9 22% @ o e ST
WWlW@%ﬂﬁ&ﬂﬂﬁW@ga@waﬂ anﬂwm?

(A) Water ireatment plant
ST JUER |

(B} Pulverising unit

(C) Ash handall';%% unil
TG GuTe T 3578

(D) Cooling towers
]

The probabulity distribution taken to represent the completion time in PERT analysis is:

Gord FZAS & TETo W T W I3 3 férg fir e T AR 2

(A) Gamina distribution

T faaRer

{B) Normal distribution

Y faawo

(€)

()
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{C) Beta distribution

{D) Log-normal distribution
-
Which of the followinyg statements is true?

A. Efficiency of screw depends upon lead of the screw.
B. Efficiency of the screw depends upon helix angle hut docs nm depend on friction angle.

fofsfmddsuewaae

A. T P 4T TF & o R R adt g
B,@Hﬁm%aaaﬁmmﬁ#{aﬂ?ﬂ%éﬁﬂuﬁmaﬁmmﬁﬁﬁﬁaﬂ?ﬁ%i

(A) Only A B)
A

(B)Only B
B

{C)Both A and B
AdRB

(D) None of these
TR A B T
Which of the following statements is true? (D}

A. Efficiency of the screw decreases with increase of coefficient of [riclion
B. Clutch and coupling can be considered to be same.

PR ddsnaIFATa
A. TS0 U ) g ¥ At ae H B ol &
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B. T4 % HUfen 1 GHE 7FE1 S 951 |

{A) Only A
A

(B) Only B
B

(C) Both A and B
AIXB

(D) Nene of these

Height of the centre measured from the bed of the lathe as compared to swing diameter over
the bed is

we ¥ R O ol i e o e R Ry ) gen B, RRR R g

{AJ) half
HIHUT

(B) double (A)

{C) same
AR

{D} four times

=R

In a locometive, the maximutn magnitude of the unbalanced force along the perpendicular )
1o the line of stroke, is known as

T THART A, T 3t 1@ & daqd & WY SRigRE 0 3t Hfiesas afemr, 21
W S 8
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A) tractive force
G ad

{D) swaying couple
Gt

gﬂ)?hammer blow
=

(D) Nonc of these

B T

A shock wave which occurs in a supersonic flow represents a regien ih which

0 QRFIF U9 & [ T59a F Ao 8 ¢ 0o W 8 oo wielAile st 2 ornd

{A) a zone of silence cxists

prckalc o |

(B) there is no change in pressare, temperature and density
Z4M4, TTOH 3R 09 X 3 doa[ el 8

(C) there is sudden change in pressure, temperature and density
Za, FIUHM 3R T & SRS Thac g g

(D) velocity is zero.

YA e

(Cy



